=1 )

2 Y| LT
dRES, A
12§24, nER2



Introduction_History B Business Areas B Products_Guardrail B Products_Noise Barrier B Products_Steel Fence W0 Products_Metal Precision Machining

Guardrail scax

2WAY 7=

'WRElel 222 Saff X2kl AHdolE, UM A
Hxlot= LSAMULICE (=2 H ZSEH0 XSsHH, A2 ¥ XIF, dES=at

Q0
R
bl
113

So| \D2RE| XIS MHS HE5H0 2XMDE WKIH| Yk
H, BRFE 74)

9,!
_|\l

15t XIS
1510 KA A7t E0|
Xto| OFmA St

HE =H & AIRFEEN

4000 ¥

] L4 *
&h TR N R ]

-
-

140 - -
ANEY HME it ——y

A —FTTT

1

| g 1 i s

| j———] i — ]

UHERZE 1 60km/hO|A~80km/hQl FZHMEZ HARZIMEZ0| 74 A7F M| (QH)

XA

ME-qoRt =R Okt 22l=2

06_SHIN SUNG CONTROL




rEE
We will serve the users with the highest quality products
To satisfy its customers with the best quality products

3WAY 7I=E8|

2way 7tEH| YL 0| {1 252 FIIE MEL2 x| A0S, SYM S A1=2RE 2TXIe| YES

2S5t 2D E EX[517| lsh EX|Shs LS AIEELICt
(=7 & ZEcHol XBstn, Haa| H XIF, AE22, BLXFE 74

St HX|EHH0| =0t S oY
OlH, HESSAIZo &A% MSULCH
=E 2 HER HIZHGI0 RAA| A7}
ENShils
S S50l HEAte| eny e
2 BIRE2IZAL AIZXIE LEM D42 HE| MX|

HE =M & AI>REENM

&\@

4000 £s
2000 . 2000 i ‘

Fres

E "L ER
- al= - s {
i A7 4N 4
e

i-l

1]
1
H
|
1
|
!
¥

2200
|
i
r h

=

[oerep -......l = ]

HE2ZE © 60km/hO|[A~80km/hQ! FZHMEZ HAZMME 20| 83| 27 MX| (LH)
METZE - MAISE 60km/hO|2Rl ZMER ZX|=2 (THH)

HE-FO|I E2 Fo-=izt ez

SHIN SUNG CONTROL_07




Introduction_History B Business Areas B Products_Guardrail B Products_Noise Barrier B Products_Steel Fence W0 Products_Metal Precision Machining

Guardrail scax

e Jt=e

7H(Open) & ZhEaele) THIEIRMS| ASIZIZHE B9l 28 Of4f Cieto
Olot RAIE HEIZ DISO) MY, HHNE Tista

HZLH

JIRZHE X|FZE B AXE JIELIO|Z E
| 2502 Jt2E AIS HE ol E2

H—
r2
2
x
mjo
2 o
L
[
o i

HE =H & AIRFEEN

2320

XA

08_SHIN SUNG CONTROL




rEE
We will serve the users with the highest quality products
To satisfy its customers with the best quality products

AASHTO 7i=3Y

THHeZ QASE 0|z uEE2 M| S|0) A 2155H= AASHTO H|

=2 JHEsto], =H MY 32 SXHe= JEE
MiZ Lt

- HIEEE

1.8 M S8 HE ME

oS o

2. ZXISPECS m=7| H20], AASHTOS Al8SH= BEZT}

SE MX|
3. o] AMHHO| Qs SEA| RIS SAHE Shot0
EEAIe| QMY B

HE =H & AIRFEEN

+Washer2mm +Nut

2 Bol ts M16x40 Hexagona | Head
+2 Washers 2mm +2 Nuts
8 Bolts M16x30 Round Head
+8 Washers 2mm + 8 Nuts

@l

8 Bolts M16x30 Round Head
+8 Washers 2mm + 8 Nuts

Bolt M16x40 Round Head
+ Washer 2mm + Nut

4Bolts M16x40 Hexagona | Head
+4 Washers 2mm +4 Nuts

Around Barr al Jissah road in Oman Muscat highway in Oman

Jabrin — lori highway in Oman

SHIN SUNG CONTROL_09




Introduction_History B Business Areas

Products_Guardrail

Products_Noise Barrier

Guardrail scax

7IEE Y SSA

Products_Steel Fence

Products_Metal Precision Machining

ERQIMAIM M| & 22[X|Z(2009, ZESHYE)Q| XIS OHMAIM Hoj w2t MESSAIES S5t 450| HBE
HES ABstH HE = Mo|7ZExE] Y A B AlMD} &t 71200 XMEtst MES MSELIcH
SB4 ZEAIE
X2FSEF 1 14ton
Z=25C : 65km/h
SEZ2tE 15
SB2 ZEAIE
X2F=2F 1 3ton
Z=4% : 80km/h
SEZIE 20
= — NN
7tIEHY S= TEST (EH|0|X| 5G4 www.sscontrol.co.kr Zti1)
) SB1 SB2 SB3 SB4 SB5 SB6 SB7
S2 71 34x (k)
60 90 130 160 230 420 600
& FZH(MAISE 60 km/h O|2ko] Uk 21 ZX|=2) © @
e sz © o
x BT zeman muany s dEeta R o | o
; (60 ~ 80 km/h HZX/ !
S = 7M £2) 1. 227} E} £29} @3} El= £ E4 77t o 5
= 2. E4 Exl2 S30| 2 77
2
=1 4 27t 72 S8 © o
= (1oo km/h Ol | BUEAN, Y 7 Y =X Y} 2 72 © | o
L£E2 1. 27} E} £29} W} El= S E4 717t 5 o
MSA TG EB) o =4 mxy Syl B2 72
O Ydtdozm XA sl= S3 O TZ0{7I0/LE A|MES JHet 20| mat ALR0| EE == S
MHEHESOOM HMSst= HE L S5
HERE =2 H|Z
PJI=E 1! SB1, SB2, SB3, SB4, SB5 TE2 I
TEIARI|CY SB1(7H2E), SB4, SB5 SL22HE, HTEE
THE7 e Y SB3, SB5 S22 TAITYPER &

10_SHIN SUNG CONTROL




	ÂÊ 1
	ÂÊ 2
	ÂÊ 3
	ÂÊ 4
	ÂÊ 5
	ÂÊ 6
	ÂÊ 7
	ÂÊ 8
	ÂÊ 9
	ÂÊ 10
	ÂÊ 11
	ÂÊ 12
	ÂÊ 13
	ÂÊ 14
	ÂÊ 15
	ÂÊ 16
	ÂÊ 17
	ÂÊ 18
	ÂÊ 19
	ÂÊ 20
	ÂÊ 21
	ÂÊ 22
	ÂÊ 23
	ÂÊ 24
	ÂÊ 25
	ÂÊ 26
	ÂÊ 27
	ÂÊ 28
	ÂÊ 29
	ÂÊ 30
	ÂÊ 31
	ÂÊ 32
	ÂÊ 33
	ÂÊ 34
	ÂÊ 35
	ÂÊ 36



